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T &



Research Entrance Test-2017

No. of Questions : 50
Wyl st | : 50

Time : 2 Hours Full Marks : 200
g ; 2 §U2 quIiE : 200

Note: (1)

(2)

(3)

This Question Booklet contains 40 Multiple Choice (Questions
followed by 10 Short Answer Questions.

27 g i § 40 aegfss 9 10 Y SEig 997 2

Attempt as many MCQs as you can. Each MCQ carries 3
(Three) marks. 1 (One) mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. If more than one alternative answers of MCQs seem
to be approximate to the correct answer, choose the closest one.

Aty aegfe yet B e HA H HES BT AT
Tegfre 99 3 () of &l 2 | e e S @ A 1
gﬁ“)mmﬁrﬁﬂmuﬁzﬁaﬂﬁﬁanﬁwmw

| afg 5 g7 & U Jehiedsd I gl Imi &
frpe welia &, @ Fidedd €81 3w & |

Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be

used for the purpose. Answer each question on separate page,
after writing Question No.

Fae § (df) TgSEE 9sHl ® ST 3 94 999 16 (diws)
P! w1 B a7 ITHT 3w 150-200 & H WA BAT NS |
5% o 39 gitas # @t gu 9e 5 (9r=) gei & & Jugn
Ig5T% & | T 99 H IO UF JU TS q, 99T g ey
E T |

3 P.T.O.
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01.

02.

03.

04.

Who wrote Svapnavasavadattam ?

(1) Kalidasa (2) Bhasa
(3} Banabhatta (4) Jayadev
IRy e = g v

H [ RS {.2] g1

(3} Aopee (4) waET

Who was the founder of Satyashodhak Samaj ?
(1) Atmaram Pandurang (2) Jyotiba Phule
(3) Mahadev Govind Ranade (4) Avvankali

T AT B YT e @ o ?

(1) SACATIH g7 (2) =ifeTET e

(3) =wery Tfg= T (4) STF

Who discovered the caves of Bhimbetka ?

(1] Paramananda Acharya (2) V.D. Krishnaswami
i3} Rajendra Prusad Das (4) V.S, Wakankar
dimezan Jienedt #1 @i fmae @t o ?

(1) qraE= emErd (2) 1.3t FomET
(3) WA=" JER I (4) #1.0€. G

Umakant and Ramakant Gundecha Brothers are associated with

(1)  Dhrupad (2) Kathak

(3} Sarod (4) Tabla

I UG THERG YeEr §9Y w1 gy fBed g v
(1} 9= (2) FUH

(3) dUE (4) T
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05. Who among the following is NOT a winner of Nobel Prize in

Literature ?

(1) Kazuo Ishiguro (2) Bob Dylan

(3) Rabindranath Tagore (4) Ruskin Bond
sefifafEs § & F9 wied § HEw e i Tw@ 8 v
(1) =] SIRF (2) g9 fBe

(3) TEIEATY X (4) Fap dfes

06. In which State of India is Lomus Rishi cave situated ?

{1) Uttarakhand (2) Maharashtra
(3) Madhya Pradesh (4) Bihar

fmd R F T ARG B g U d Rag ® 7
(1) ITEs (2) HERTS

(3) H HasT (4) FEr

07. Which of the following languages is NOT declared by Government of
India as Classical Language of India ?

(1) Tamil (2) Oria

(3) Kannada (4) Bengali

Frfiaa § 8§ 9 @ R 9 B 9Rd 93 B8R A
AET H A AT AGE 2 7

(1) afr (2) s

(3) F18 (4) ST

5 P.T.0.



RET/17/TEST-B 850/1.P.R.

08.

09.

10.

To whom does the Speaker of the Loksabha submit his/her
resignation ?
(1} The Prime Minister (2} The Deputy Speaker

(3] The President (4) The Vice President

AFHT {ed8] Y- AT Fha 397 & 7
(1] F&em= =354t (2) SREHET ITTEAE

(3) Iyl (4) I

Who has been appointed as Chairman of the Committee assigned to

prepare the final draft of the National Education Policy in 2017 ?
{1) Ram Shanker Kuree]

2)  Krishnawamy Kasturirangan

(3) T.V. Kattimani

(4]  Manjul Bhargava

Ty foran Sife, 2017 & wEET 997 w4 & oo AfEq qmE F
A HIF B 7

(1) T siwT e (2) FHEMEE FEILICT

(3) 2. 4. pedE (4) HIA AFE

Who is the author of 'Dast e Saba' ?

(1)  Sahir Ludhivanvi (2) Faiz Ahmed Faiz
(3) Muhammad Igbal (4) Ziauddin Barani
Tw O gEAr & d@® B © 7

(1) e giEETEl (2) & HAEHE B
(3) HEWE ShA (4) T@TIEam Fa-l
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11.

12,

13.

According to Advaita Vedanta which statement 1s false ?
(1) God is real (Sat)

(2) The World is Mithya

(3) Maya is Mithya

(4) The Jiva is Anadi. (Beginningless)
aﬁﬁmﬁaﬁmﬁm-—wmmm%?

(1) 98T 9 & (2) Er e @
(3) == e B (4) Sifg I 8

The Correct Sequence of Triple process in evolutionary theory of Srt
Aarbindo is :

(1) Widening, Integration, Heightening
(2) Heightening, Integration, Widening
(3) Integration, Widening, Heightening
(4) Widening, Heightening, Integration

oy arfre & feraars Roara & ey gfear & a8 &9 2
(1) Taarenter, gemEnes, IS
(2) FEHIHTOr, G, faEaTIsnTT
(3) THEReH, faEaTiEReT, ISR
(4) faeardener, SSIHLT, AR

Given below are two statements regarding vaibhasika, one lebelled as
Assertion (A) and other lebelled as Reason (R), Concidering {A) and
(R) Select the Correct Code:

Assertion (A) : Nirvana is positive.

Reason (R) : It can be realised in Samadhi.

Codes:

(1) linth (A) and (R) are true and (R) is the Correct explanation of

(2) Both (A) and (R) are true but (R) is not the Correct explanation of
A).

(3) (A} is true but (R) is false.
(4) (A) is false but (R} is true.

7 P.T.O.
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‘J%Trrtrrrhwfr
HT 28T o6 (P
Jr?rTrmqﬁrFﬂ%

FlFIl':hr’Hf‘f"«E[ q ¥ -
AT OH | (A) ST (P wﬁwmgnﬂﬁ

TR (A) - Frafr aEsg

TE R} AN H gHEH AR B 9l |

iE' :

(1) (A) 3T (R) ST HET & T4 (R), (A) + TEl ==ren € |

(2) (A) 3T (R) ST |@& B g (R), (A) # GE e T8
(3) (A) &l & g (R) T © |

(4) (A) T B Al (R) @€l E |

14, Jainism maintains that Souls are :
(1)  Quantitavely alike and qualitatively different.
(2)  Qualitatively alike and Quantitavely different.
(3) Both Qualitatively and Quantitavely alike.
(¢}  Both QuaIiLauel}' and Quantitavely different.

59 asta A & & o

(1) 9R=OTeTE B9 " g9 § IR e w9 § e €
(20 UTeHE W9 " HHE € S uftETTes w9 d A e
(a) mmamuﬁmnnmﬁm%m%l

(4] e e afEeTeTE S =9 F a2

15. Who says, “At the time of birth our minds are Tabula Rasa”

(1 Locke {2) Berkeley

(3] Hume {4) Plato

T'ZFHEFjiﬁEFIE IR % OHE THIR 9EER FIL RS & HE9
gfar 87 7

(1) {2) GEY

(3) M (4) 2T
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16.

17.

18,

19.

Which one is not a theory of Bhartrhari ?

(1) Sabdabrahmavada (2) Akhandavakyirthavada
(3] Abhihitinvayavada (4) Vivartavada

HrA-a1 wdelt &1 fsra 78l 8 7

(1) T=FEHIR (2) STEUSIEEEE

(3) erfufearagaE (4) faadars

Who among the following is of the view that ‘Mumuksutva’ is self
evidence in favour of Immortality ?

(1) Vivekananda (2) Gandhi
(3) Sri Aurbindo (4} Radhakrishanan

mtﬂﬁlﬁaﬁﬁﬁaﬁ?sﬁﬁwm%ﬁﬁ‘ﬁ@ﬂ’mﬁqﬂﬁ
=g garer g 7

(1) A= (2) et

(3) = e (4) TTETHETH
According to Yogicara which one is not a reality ?

(1) Parariipa (2} Paratantra

(3) Parikalpita (4) Parinispanna
AMER & AR, HiF a1 e & 7

(1) 9= (2) 9Ea=

(3) afRemicae (4) ufifesr=
What is Cognition in Sarikhya ?

(1) Vrtti of Purusa (2)  Vrtti of Buddhi
(3) Vrtti of Body (4) Virtti of Avidva (Ignorence|
gieg § 9 o g7

(1) 389 = gfa (2) 3 @t 3
(3) eI &I ghr (4) AfFEn =1 g

9 P10,
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20. What is ‘Svaruspasiddhi’?

21,

(1] Absence of Hetu in Paksa

(2}  Absence of Sadhya in paksa

(3} Absence of Vyapti in Hetu

(4] Absence of both Hetu and Sadhya in Paksa
‘wETatE @ w7

(1) &g & 987 & 7 &

(2) W= H 9 H 7 EET

(3) ®Bg H @nftg &1 7 =

(4) T Y @red 1 @ qe H A e

Match list I with list II and select the correct answer from the codes
given below .
List-I List - II
(Thinker) (Thinking)
(a) Gandhi (i) Gnostic being
(b)  Vivekananda (i) Doctrine, Devotions and Worship

(c]  Sri Aarbindo (iii) Village Republic

(d) Radhakrishnan (iv) Time, Space, Causation

Code:

(a] (b)  (c] (d]
() (iv) (1) (i1}
(2) (i) @) ) (i1}

(3) (i) @) () (i

@4y iy (i) (iv) (i}

10
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22,

23.

@lﬁ@za@mwmﬁa@@ﬁaaﬁ

3T W AT

gHl- 1 gEl- 11

(Ferear®) (For=rT)

(a) ref (i) fastreE grof

(b) TFEEFE==E (i) Freifee s, wawn of o
(c}) = Rfa= (iif) HTHIOT ToTd—=

(d) TETHFSTT (iv) hIE, 39T, IO
T:Eﬁ’:

(a) (b) (o) (d)
(1) () (iv) (i) (1)
(2) (i) i) () (1)
(3) (i)  (v) (1) (i1)
(4) () (i) (iv) (i)

According to Nyaya, Soul 1s :
(1) Atomic (2) Omnipresent
(3) Present only i1s the body (4) Transient

G & STFAR AT B

(1) IHTET (2) Td=md
(3) i (4) A

Who among the following has accepted ‘Aprthaksiddhi Sambendha’
between Jiva and Isvara ?

(1) Sarnkara (2) Ramanuja
(3] Vallabha (4} Chaitanya

i P.T.0.
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24,

25.

26.

AqienEd # | fhEd Sig ug $9av & @9 srggwtataaae’

(1) =TFT (2) {HEFA

(3} dee (4) a1

According to Tao-Teh-Ching, the only unchanging principle in the
world of Change is :

(1) Hsu (2) Fan

(3] Wer-Wu-Wei (4] Wu

dlsfl-de-fE & IER Rgdasfia s7a § uwds sHiEdad
e & -

(1) 9 (2) W

3] dr-g-d 4 g

Which Philosopher has given five arguments to prove the existence of
Tod ?

{1) St. Anselm (2} Spinoza

(3] St. Thomas Aguinas (4) Descartes

FR anifFes 3 SeaY dr @ yAifte w & g O T Ra 7

(1) T T (2) FETrT

3y I o oEEE (4) I

Which one of the following is both cause and effect ?
{1) Prakrti (2] Purusa

(3) Ahamkara (4) Mahabhutas
AT § AF 0% BT A7 w2 E 7
(1} Wik (2) 95"

(3] FEHIT (4) Helqd

12
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27.

28,

29,

30.

Which Philosopher accepted synthetic Aprier: judgement ?

(1) Huma (2) Kant

(3) Leibnitz (4) Locke

fgmmiﬁaa% “HeToTIed ArTgHaSE Fofal ®r @R R
7

(1} &IH (2) =i

(3) STRISA (4) dfeh

According to whom, wisdom, courage, temperance and justice are
four ethical virtues ?

(1} Hobbes (2) Socrates
(3) Aristotle (4) Plato

(1) &f=H (2) ¥HT

(3) H] (4) wiE

Which of the following is a basic discipline of Zoroastrianism ?
(1) Haurvatat (2] Ameretat

(3} Humat (4) Mithar

sreffofa & & arelt ud @t gor gremn @ @7

(1) 2 (2)
(3) gud (4) Fae

Which one of the following pairs is correctly matched ?

(1) Gandhi - Hind Swaraja, Gita Rahasya

(2) Radhakrishnan - Hindu View of Life, Synthesis of Yoga
(3) Sri Aurobindo - Human Cycle, Savitri

14} Nagarjuna- Madhyamakasastra, Vijiaptimatratasiddhi

13 P.T.0.
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31.

32.

33.

frifefad & & sF-a1 g7 #4217

(1} et- = @, e e

2) Y- @ & e @ew, difaiE SiE qnT
(3) A1 sfA=E- ggE A, Qi

(4) ARTT- HeEAAHATE, [AenfaHEiars

In Buddhism ‘Karuna’ refers to .

(1} Hinavina (2) Mahayana
(3} Tantrayana (4) Sahajavana
drE a9 A ‘pen 1w

(1) ErFar A (2) "B
(3} d=4 g (4) ®esaE |
How many pramanas does Vaisesika accept ?

(1) 2 (2) 3 (3) 4 (4) 6

Who among the following has said that ‘All land belongs to Gopal?
(1] Tagore (2}  Vivekanand

(31 Gandhi (4} Vinovabhave

sefiferfiag § A FHY U A wer © i He 9w e @8 7

(1) T (2) fadwrr=
(3) e (4) fasreme

14
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34. Given below are two statement regarding Hindu tradition, ane lebelled
as Assertion [A) and other lebelled as Reason (R), Considering (A
and (R) Select the Correct Code:

Assertion (A) : There is suffering in the world.

Reason (R) : God has created everything.

Codes:

(1) (A)is true but (R) is false.

(2) (A) is false but (R) is true.

(3) Both (A) and R) are true and (R) explains (A},

(4) Both (A) and R) are true but (R} does not explain (A).

ferg o e & wrafaa 9 @ wu9 RY W@ B OH
e ()R g @ @)@ =9 § 21 (A) 3w (p) ¥ =
HIA GL WEl FHT B A9 HIoH |

AfHpe (A) : 57T F g@ B

a% (R): 2997 7 | oAt F1 gite &t |

E@:

(1) (A)GEl & a=n (R) Tid ©

(2) (A) T & @O (R) @Ol B

(3) (A) 3R (R) 2 ®WET E @ (R), (A) B HE T B

(4) (A) 3T (R) ST | B fg (R), (A) T FE e @ E

35. Which of the following pairs is not correct ?
(1) Systematic Theology — Paul Tillich

(2) Summatheologica - Thomas Aquinas

(3) Proslogion - Anselm

(4) A treatise of human nature - Kant

15 P.T.0.



RET/17/TEST-B 850/1.P.R.

Frefarias § & = |2l g G2 7
(1) fov=dfes famErsn - 9 i
(2) T ferEretaeEr - ooy ofdaes
(3) ar=fET - o

(4) © FfEs A% ggAd J9¢ - FHUe

36. With regard to God, who has said that ‘Every determination is negation’ ?
|1} Descartes (2) Locke
(3) Spinoza (4) Berkeley
weifefiae § & frad deag & at & w1 2 f& aes Mafvor
frog 2 7

(1) =FrE (2) &
(3) eSS (4) @l

37. Which one of the following 1s not true regarding Jaina theory of
knowledge ?

(1) Knowledge reveals the object
(2] Knowledge reveals its relation with the object.
(3) Knowledge reveals itself.

(4) Relation between knowledge and its object 1s external.

T FE-TEErg $ e # eEad § 3 $e "9et 8l € 7
(1) S a&] 1 Y e &

(2) T AR B SO TR I TS T F

(3) 1 TE el FeRNLTT Bl & |

(4} T T AR W g TR argd € |

16
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38.

39.

For Radhakrishanan ‘Intellectual knowledge’ is realised by :
(1) Imagination and Sensation (2) Analysis and Synthesis
(3) Synthesis and Abstraction (4) Imagination and Abstraction

VT ) gite ¥ Aifsw T 9 AT o @ §
(1) FHeqqr od gaza1 9 (2) faseraor ud Heagor 9

(3) HIRUYT U AR | (4) FHUT T JIFRLOT 9

Given below are two statements, are lebelled as Assertion (A} and

other lebelled as Reason (R), Considering (A) and (R} Select the

Correct Code:

Assertion (A) : Zoroastrianism has an absolutist metaphysical from
work.

Reason (R) : The world is created by the Divine Heptad.

Codes:

(1) (A) is true but (R) is false.

(2) {A) is false but (R) is true.

(3) Both (A) and R) are true and (R) does not explain (A).
(4] Both (A) and R) are true but (R) explains (A}.

ﬁ%amﬁ&ﬂﬁ%r%mﬁ?ﬁw%aﬁ?mﬁ#m%
07 % (AR P AR 7@ FE R AT KT |

Sf¥HIT (A) 1 T o F qeenimEET greg frede
9% (R): 9 F gite =g g F #t 2

%.‘

(1) (A) ®ET & 1 (R) Toid © |

(2) (A) o B dur (R) @@l 2 |

(3) (A) ST (R) ST WSl & T (R), (A) Pl AT & & |
(4) (A) 3T (R) 2T | ® BAg (R), (A) 1 HET @TE B

17 P.T.O.
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40. The etvmological meaning of ‘Bhakti’ is ;

(1] toworship (2) to surrender
(3) toserve (4) Lo prav
‘TR T eMieEes o7l B

(1) T &I (2) THYOT FHIAT
(3)  TAT FLAT (4) " HEAT

18



RET/17/TEST-B 850/1.P.R.

Short Answer Questions
T FIT 97

Note: Attempt any five questions. Write answer in 150-200 words. Each

O1.

02.

03.

05.

06.

question carries 16 marks. Answer each question on separate page,
after writing Question Number,

el dfg gsa & IO} S| U&E H Il 150-200 w=i H
T | T 99T 16 37T T & | UedT UeH H IaY AT I 07
qoF Tl [AEHY Y% w1 |

Discuss the Significance of the Divine Heptad.

e T & wed it @der FHifeg

Comparatively discuss the Buddhist and Jain concepts of liberatin.

e fawgs s ud S srgurenait @ gk faeEe Sy |

Discuss Critically the concept of ‘Maya’ according to Advaita Vedanta.

HITT |

Discuss the way of realising the Absolute according to Vivekananda.

A= & AR UTHEd i orHfa ® Art Ev faess Ff

Discuss Sri Aurobindo’s Philosophy of ‘Integral Non-dualism’.

St arfa= & ‘Guy FEqgr’ gefF F FEEET FAEE

Explain Nyava concept of ‘Savyabhicara Hetrabhasa’

= F HATHE ST @ STEHTION @t TR S |

19 P.T.O,
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07. Discuss relation between Reason and Intention’, according to
Radhakrishnan.

THEYN S SHENT T Ud rasie’ & gy 6l fadee Hi

08. Discuss critically the relation between ‘Religion and Movality.

i Ud Sfqwar B G & g & gHidTHE [gduHr it |

09. Examin critically Moore’s refutation of Tdealism’.

T % JATdls & @USA H GHIEHE GUEeT Hifrd |

10. Discuss Correspondence theory of truth.

9 F Aanl e & baEs #ieig

20
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Question No. Page for Short Answer

REE R e dg S & e g9

22
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Question No. Page for Short Answer

ge= HeEAl Wy S’ & R g

21 P.T.O.
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Question No. Page for Short Answer
99T & wY SeiE & e gw

23 P.T.0.
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Question No. Page for Short Answer

REC e @Y S & fim g

24
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Question No. Page for Short Answer
ued geEr g Inig & ke g

25 P.T.0.
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Question No. Page for Short Answer

q9s  HEAT Ay g & e g=

26
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ROUGH WORK
%

27 P.T.O.
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